UNITED STATES DISTRICT COURT FOR THE EASTERN DISTRICT OF PENNSYLVANIA

IN RE	: PROCI	ESSED	EGG	PROD	UCTS
ANTI	TRIIGT I	ITIGA	TION	J	

MDL Docket No. 2002 08-md-02002

This document relates to:

ALL DIRECT PURCHASER ACTIONS

DECLARATION OF VINCENT J. ESADES, ESQUIRE

- I, Vincent J. Esades, declare as follows:
- 1. I am a Member of the law firm of Heins Mills & Olson, P.L.C. I make this Declaration based on my personal knowledge. If called as a witness, I could and would competently testify to the matters stated herein.
- 2. This Declaration pertains to the hours worked by professionals in my firm, and the expenses incurred by this firm, during the period from January 2009 through February 2011. My firm has submitted to Interim Co-Lead Counsel in this case (i) monthly reports setting forth the hours which this firm (by individual) has devoted to work on this case for the foregoing period of time, and (ii) monthly reports setting forth the expenses incurred in connection with this firm's work on the case during that same period. These monthly reports are based upon records of time and expenses regularly maintained by my firm in the normal course of conducting its business.
- 3. At the direction of Interim Co-Lead Counsel, my firm has performed the following tasks in this litigation: Participated in conferences with Co-Lead Counsel regarding

case strategy, briefing pleading responses, discovery issues and settlement efforts; participated in motion practice and drafted and edited briefs; participated in obtaining discovery from

Defendants, including documents and electronically stored information (ESI); prepared for and participated in meet and confers with Defendants' counsel regarding discovery; reviewed

Defendants' documents to identify potential document custodians; communicated with

Defendants' counsel regarding custodian issues and Defendants' discovery efforts; reviewed, analyzed and indexed documents produced by Defendants and prepared memoranda and charts memorializing evidence found through document analysis; interviewed Defendant witness; participated in settlement conferences and drafted settlement documents; and contributed to the litigation fund to support the continued prosecution of the litigation.

- 4. Attached as Exhibit 1 hereto is a chart setting forth, for the January 2009 through February 2011 time period: (i) the individuals from this firm who have worked on this case; (ii) the dates of admission (attorneys) or years of experience (non-attorneys) for each individual that has worked on this case; (iii) the billable rates charged by each such individual, by year, for work performed on this case; (iv) the total number of hours that each individual has worked on this case, by year; (v) the total hours and total lodestar for the firm; and (vi) the total expenses less assessments for the firm.
- 5. Attached as Exhibit 2 hereto are the monthly lodestar reports which this firm has submitted to Interim Co-Lead Counsel for the Direct Purchaser Class Plaintiffs from January 2009 through February 2011. The lodestar amount reflected in the reports attached hereto is for work assigned by Interim Co-Lead Class Counsel and was performed by professional staff at my law firm for the benefit of the Direct Purchaser Plaintiff Class. I have reviewed the lodestar reports attached hereto and can confirm that they are true and correct. All work reported by

individuals (attorneys and non-attorneys) on behalf of the Direct Purchaser Plaintiff Class in this matter was performed on a wholly contingent basis. The rates set forth in the monthly reports attached as Exhibit 2 are the usual and customary, historical hourly rates in effect at the time work was performed. These rates are the same as, or substantially similar to, rates used by my firm in similar types of actions. In addition, my firm has submitted fee petitions in other cases that have reported hourly rates at amounts comparable to those sought herein, and courts have approved an award of attorneys' fees in such cases. Examples include: In Re: Lawnmower Engine Horsepower Marketing and Sales Practices Litigation, No. 2:08-md-01999 (E.D. Wisc.); In Re: Puerto Rican Cabotage Antitrust Litigation, No. 08-md-1960 (D.P.R.); In Re: TFT-LCD (Flat Panel) Antitrust Litigation, No. 3:07-md-01827 (N.D. Cal.); In Re: Pharmaceutical Industry Average Wholesale Price Litigation, No. 01-cv-12257 (D. Mass.); and In Re Static Random Access Memory (SRAM) Antitrust Litigation, No. 4:07-md-1819 (N.D. Cal.).

6. Attached as Exhibit 3 hereto are monthly charts setting forth the expenses incurred by this firm in connection with this litigation from January 2009 through February 2011. These costs were incurred on behalf of the Direct Purchaser Plaintiff Class by my firm on a contingent basis, and have not been reimbursed.

I declare under penalty of perjury under the laws of the United States of America that the foregoing is true and correct.

Executed on September 6, 2012, at Minneapolis, Minnesota.

Vincent L Esades

EXHIBIT 1

EXHIBIT 1

Heins Mills & Olson, P.L.C.			
Esades, Vincent J Partner ADMITTED TO PRACTICE: 1994			
	Rate	Hours	Rate x Hours
2009	\$560.00	43.75	\$24,500.00
2010	\$560.00	1.50	\$840.00
2011	\$560.00	0.00	\$0.00
Cumlative Hours		45.25	
Cumulative Lodestar			\$25,340.00
McFarland, Dylan J Partner ADMITTED TO PRACTICE: 1980			
ADMITTED TO FRACTICE. 1980	Rate	Hours	Rate x Hours
2009	\$600.00	35.75	\$21,450.00
2010	\$600.00	0.00	\$0.00
2011	\$600.00	0.00	\$0.00
Cumlative Hours		35.75	
Cumulative Lodestar			\$21,450.00
Felt, Barbara J Partner ADMITTED TO PRACTICE: 1992			
ADMITTED TO TRACTICE. 1772	Rate	Hours	Rate x Hours
2009	\$550.00	30.75	\$16,912.50
2010	\$550.00	15.50	\$8,525.00
2011	\$550.00	0.00	\$0.00
Cumlative Hours		46.25	

Cumlative Hours Cumulative Lodestar	46.25	\$25,437.50

Carlson, Scott W Associate	
ADMITTED TO PRACTICE: 2004	

ADMITTED TOTRACTICE. 2004	Rate	Hours	Rate x Hours
2009	\$345.00	3.00	\$1,035.00
2010	\$0.00	0.00	\$0.00
2011	\$350.00	0.00	\$0.00
Cumlative Hours		3.00	
Cumulative Lodestar			\$1,035.00

EXPENSES LESS ASSESSMENTS

2009 \$345.00 26.00 \$8,970.00 2010-February \$3350.00 11.25 \$3,397.50 2010-July \$365.00 38.25 \$13,961.25 2011 \$365.00 0.75 \$273.75 Cumlative Hours	ADMITTED TOTKAC	TICE. 2004	Rate	Hours	Rate x Hours
2010-February \$350.00 11.25 \$3,937.50 2010-July \$365.00 38.25 \$13,961.25 2011 \$365.00 38.25 \$13,961.25 2011 \$365.00 37.5 \$273.75 \$27		2009	\$345.00	26.00	\$8.970.00
2010-July \$365.00 38.25 \$13,961.25 \$273.75					
Cumlative Hours		<u>-</u>			
Second		-	\$365.00		
Anderson, James W Associate ADMITTED TO PRACTICE: 2004 Rate Hours 2009 \$0.00 0.00 \$0.00 2010 \$35.000 10.00 \$3.500.00 2011 \$350.00 0.00 \$0.00 Equility Elours Cumulative Hours Cumulative Lodestar Rate Hours Rate x Hours Rate Hours Rate x Hours Rate Hours Rate x Hours Rate x Hours Rate x Hours Rate x Hours Rate Hours Rate x Hours Rate x Hours Rate x Hours Rate x Hours Rate x Hours Rate x Hours Rate x Hours Rate x Hours 2009 \$200.00 12.75 \$2,550.00 2010 \$200.00 0.3.75 \$750.00 2011 \$200.00 0.25 \$50.00 Cumulative Hours Cumulative Lodestar Rate Hours Rate Hours Rate Hours Cumulative Hours Cumulative Lodestar Rate Hours Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$375.00 2011 \$150.00 0.75 \$375.00	Cumlative Hours			76.25	
Rate Hours Rate x Hours	Cumulative Lodestar				\$27,142.50
Rate Hours Rate x Hours	Anderson James W - A	Associate			
2009 \$350.00 10.00 \$3,500.00 2010 \$3,500.00 2010 \$3,500.00 2010 \$3,500.00 2010 \$3,500.00 2010 \$3,500.00 2010 \$3,500.00 2010 \$3,500.00 2010 \$3,500.00 2010 \$200.00 12.75 \$2,550.00 2010 \$200.00 3.75 \$750.00 2011 \$200.00 0.25 \$50.00 2010 2					
2010			Rate	Hours	Rate x Hours
Cumlative Hours 10.00 \$0.00 Cumulative Lodestar 10.00 \$3,500.00 Kovarik, Irene M Paralegal EXPERIENCE - 30+ YEARS Rate Hours Rate Hours Rate Hours \$2,550.00 2010 \$200.00 3.75 \$750.00 2011 \$200.00 0.25 \$50.00 Cumlative Hours 16.75 \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$375.00 Cumlative Hours 7.50 \$3,1125.00 Cumlative Lodestar 7.50 \$1,125.00 Cumlative Lodestar \$1,125.00		2009	\$0.00	0.00	
Cumlative Hours Cumulative Lodestar 10.00 \$3,500.00 Kovarik, Irene M Paralegal EXPERIENCE - 30+ YEARS Rate Hours Rate x Hours 2009 \$200.00 12.75 \$2,550.00 2010 \$200.00 3.75 \$750.00 2011 \$200.00 0.25 \$50.00 Cumlative Hours Cumulative Lodestar 16.75 \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$375.00 Cumlative Hours Cumulative Lodestar 7.50 \$1,125.00 Cumlative Firm HOURS 240.75 \$1,125.00		2010	\$350.00	10.00	\$3,500.00
Cumulative Lodestar \$3,500.00 Kovarik, Irene M Paralegal EXPERIENCE - 30+ YEARS Rate Hours Rate x Hours 2009 \$200.00 12.75 \$2,550.00 2010 \$200.00 3.75 \$750.00 2011 \$200.00 0.25 \$50.00 Cumlative Hours 16.75 \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 Cumlative Hours 7.50 \$375.00 Cumlative Lodestar \$1,125.00		2011	\$350.00	0.00	\$0.00
Kovarik, Irene M Paralegal EXPERIENCE - 30+ YEARS Rate Hours Rate x Hours	Cumlative Hours			10.00	
EXPERIENCE - 30+ YEARS Rate Hours Rate x Hours 2009 \$200.00 12.75 \$2,550.00 2010 \$200.00 3.75 \$750.00 2011 \$200.00 0.25 \$50.00 Cumlative Hours 16.75 \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00	Cumulative Lodestar				\$3,500.00
EXPERIENCE - 30+ YEARS Rate Hours Rate x Hours 2009 \$200.00 12.75 \$2,550.00 2010 \$200.00 3.75 \$750.00 2011 \$200.00 0.25 \$50.00 Cumlative Hours 16.75 \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00	Voyarik Irana M. Dar	placel			
\$2009		_			
2010 \$200.00 3.75 \$750.00 2011 \$200.00 0.25 \$50.00 Cumlative Hours 16.75 \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00			Rate	Hours	Rate x Hours
2011 \$200.00 0.25 \$50.00 Cumlative Hours 16.75 \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00				12.75	
Cumlative Hours 16.75 Cumulative Lodestar \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00					
Cumulative Lodestar \$3,350.00 Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00		2011	\$200.00	0.25	\$50.00
Zaccardi, Amy - Document Clerk Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00				16.75	
Rate Hours Rate x Hours 2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 Cumulative Lodestar \$1,125.00	Cumulative Lodestar				\$3,350.00
2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 Cumulative Lodestar \$1,125.00	Zaccardi, Amy - Docum	nent Clerk			
2009 \$150.00 4.75 \$712.50 2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 Cumulative Lodestar \$1,125.00			D. A	11	D / II
2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 CUMULATIVE FIRM HOURS 240.75			Kate	Hours	Rate x Hours
2010 \$150.00 2.50 \$375.00 2011 \$150.00 0.25 \$37.50 Cumlative Hours 7.50 \$1,125.00 CUMULATIVE FIRM HOURS 240.75		2009	\$150.00	4.75	\$712.50
Cumlative Hours 7.50 Cumulative Lodestar \$1,125.00 CUMULATIVE FIRM HOURS 240.75		2010		2.50	
Cumulative Lodestar \$1,125.00 CUMULATIVE FIRM HOURS 240.75		2011	\$150.00	0.25	
CUMULATIVE FIRM HOURS 240.75	Cumlative Hours			7.50	
	Cumulative Lodestar				\$1,125.00
	CUMULATIVE FIRM	HOURS	240.75		

\$2,329.27



EXHIBIT 2

In Re Processed Egg Products Anti-Trust Litigation, MDL No. 2002, E.D. Pa. 08-md-02002 Time Report and Lodestar Summary

Reporting Period: January 31, 2009

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar	
Vincent J. Esades (P)			0.50			0.25		0.75	560.00	\$420.00	
Scott W.Carlson (A)								0.00	345.00	\$0.00	
Irene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00	
Brenda Johnson (CT)								0.00	160.00	\$0.00	
								0.00	0.00	\$0.00	
								0.00	0.00	\$0.00	
								0.00	0.00	\$0.00	
								0.00	0.00	\$0.00	
								0.00	0.00	\$0.00	
Total:	0.00	0.00	0.50	0.00	0.00	0.50	0.00	1.00		\$470.00	

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal

(CT) Computer Tech

Reporting Period Ending: February 2009 (Amended 4/14/09)

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)		1.00	0.25			1.00		2.25	560.00	\$1,260.00
Scott W.Carlson (A)		1.00	0.50					1.50	345.00	\$517.50
Irene M. Kovarik (PL)		1.25				0.75		2.00	200.00	\$400.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	3.25	0.75	0.00	0.00	1.75	0.00	5.75		\$2,177.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: March 31, 2009

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1 .	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)					21.25	3.75		25.00	560.00	\$14,000.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Irene M. Kovarik (PL)						3.00		3.00	200.00	\$600.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
							•	0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	21.25	6.75	0.00	28.00		\$14,600.00

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: 4/30/2009 (Amended 10/13/09)

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)					11.75			11.75	560.00	\$6,580.00
Barbara J. Felt (P)					9.25			9.25	550.00	\$5,087.50
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)					6.00			6.00	345.00	\$2,070.00
Irene M. Kovarik (PL)						1.75		1.75	200.00	\$350.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						1.00		1.00	150.00	\$150.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	27.00	2.75	0.00	29.75		\$14,237.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal (CT) Computer Tech

Reporting Period Ending: 5/31/2009 (Amended 10/14/09)

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)			0.75			0.25		1.00	560.00	\$560.00
Dylan McFarland (P)			35.75					35.75	600.00	\$21,450.00
Barbara J. Felt (P)			0.25					0.25	550.00	\$137.50
Scott W.Carlson (A)							·	0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Irene M. Kovarik (PL)						1.50		1.50	200.00	\$300.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.50	·	0.50	150.00	\$75.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
						٠		0.00	0.00	\$0.00
Total:	0.00	0.00	36.75	0.00	0.00	2.25	0.00	39.00		\$22,522.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: 6/30/2009 (Amended 10/14/09)

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)		1.25	0.25		1.25			2.75	560.00	\$1,540.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)	1.25	14.50						15.75	550.00	\$8,662.50
Scott W.Carlson (A)		0.75						0.75	345.00	\$258.75
Katherine T. Kelly (A)		5.50						5.50	345.00	\$1,897.50
Irene M. Kovarik (PL)	,	0.50				0.50		1.00	200.00	\$200.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.50		0.50	150.00	\$75.00
								0.00	0.00	\$0.00
				-				0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	1.25	22.50	0.25	0.00	1.25	1.00	0.00	26.25		\$12,633.75

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: 7/31/2009 (Amended 10/14/09)

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)					0.25	0.25		0.50	560.00	\$280.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)		5.50						5.50	550.00	\$3,025.00
Scott W.Carlson (A)		0.75						0.75	345.00	\$258.75
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Irene M. Kovarik (PL)		0.25				0.50		0.75	200.00	\$150.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.50		0.50	150.00	\$75.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	6.50	0.00	0.00	0.25	1.25	0.00	8.00		\$3,788.75

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: 8/31/2009 (Amended 10/14/09)

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)						0.25		0.25	560.00	\$140.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)	14.50							14.50	345.00	\$5,002.50
Irene M. Kovarik (PL)						0.50		0.50	200.00	\$100.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	14.50	0.00	0.00	0.00	0.00	1.00	0.00	15.50		\$5,280.00

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: September 30, 2009

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Irene M. Kovarik (PL)						0.50		0.50	200.00	\$100.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.75	0.00	0.75		\$137.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: October 31, 2009

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)		-						0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
lrene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)		:						0.00	160.00	\$0.00
Amy Zaccardi						1.25		1.25	150.00	\$187.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	1.50	0.00	1.50		\$237.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: November 30, 2009

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)				<u> </u>				0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Irene M. Kovarik (PL)						0.75		0.75	200.00	\$150.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	1.00	0.00	1.00		\$187.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: December 31, 2009

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Irene M. Kovarik (PL)						0.50		0.50	200.00	\$100.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
• :								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.75	0.00	0.75		\$137.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: January 31, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)							,	0.00	345.00	\$0.00
Irene M. Kovarik (PL)						0.50		0.50	200.00	\$100.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.75	0.00	0.75		\$137.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: February 28, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)					0.50			0.50	560.00	\$280.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)		11.50						11.50	550.00	\$6,325.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
James W. Anderson (A)		10.00						10.00	350.00	\$3,500.00
Irene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	21.50	0.00	0.00	0.50	0.50	0.00	22.50		\$10,192.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: March 31, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)					"	0.50		0.50	560.00	\$280.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)		0.75	3.25					4.00	550.00	\$2,200.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)					-	0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.75	3.25	0.00	0.00	1.00	0.00	5.00		\$2,567.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: April 30, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)						0.25		0.25		\$140.00
Dylan McFarland (P)	İ							0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.75	0.00	0.75		\$227.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: May 31, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00		
Dylan McFarland (P)								0.00	600.00	
Barbara J. Felt (P)								0.00	550.00	
Scott W.Carlson (A)								0.00	350.00	
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)								0.00	200.00	\$0.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi								0.00	150.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00		\$0.00

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal

(CT) Computer Tech

Reporting Period Ending: June 30, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)		11.25						11.25	350.00	\$3,937.50
Katherine T. Kelly (A)								0.00	345.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.75		0.75	200.00	\$150.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	11.25	0.00	0.00	0.00	1.00	0.00	12.25		\$4,125.00

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal

(CT) Computer Tech

Reporting Period Ending: July 31, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)				-				0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)		9.50						9.50	365.00	\$3,467.50
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.50		0.50	200.00	\$100.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
-								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	9.50	0.00	0.00	0.00	0.75	0.00	10.25		\$3,605.00

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal

(CT) Computer Tech

Reporting Period Ending: August 31, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)	-							0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)	22.00							22.00	365.00	\$8,030.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
-								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	22.00	0.00	0.00	0.00	0.00	0.50	0.00	22.50		\$8,117.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: September 30, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)						***	***************************************	0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)		6.75						6.75	365.00	\$2,463.75
James W. Anderson (A)						-		0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	6.75	0.00	0.00	0.00	0.50	0.00	7.25		\$2,551.25

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: October 31, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	365.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)								0.00	200.00	\$0.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi								0.00	150.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00		\$0.00

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

Reporting Period Ending: November 30, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)			0.25					0.25	560.00	\$140.00
Dylan McFarland (P)							· · · · · · · · · · · · · · · · · · ·	0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	365.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi				:		0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
					.,			0.00	0.00	\$0.00
				,				0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.25	0.00	0.00	0.50	0.00	0.75		\$227.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal

(CT) Computer Tech

Reporting Period Ending: December 31, 2010

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	365.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.50		0.50	200.00	\$100.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.75	0.00	0.75		\$137.50

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal

(CT) Computer Tech

Reporting Period Ending: January 31, 2011

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)								0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	365.00	\$0.00
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)								0.00	200.00	\$0.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi								0.00	150.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.00	0.00	0.00	0.00	0.00	0.00	0.00		\$0.00

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

Professional Status:

(P) Partner

(OC) Of Counsel

(A) Associate

(LC) Law Clerk

(PL) Paralegal

(CT) Computer Tech

Reporting Period Ending: February 28, 2011

Firm: Heins Mills & Olson, P.L.C.

Professional (Status)	1	2	3	4	5	6	7	Current Hours	Current Rate	Current Lodestar
Vincent J. Esades (P)								0.00	560.00	\$0.00
Dylan McFarland (P)							· · · · · · · · · · · · · · · · · · ·	0.00	600.00	\$0.00
Barbara J. Felt (P)								0.00	550.00	\$0.00
Scott W.Carlson (A)								0.00	350.00	\$0.00
Scott W.Carlson (A)			·					0.00	345.00	\$0.00
Katherine T. Kelly (A)								0.00	350.00	\$0.00
Katherine T. Kelly (A)								0.00	345.00	\$0.00
Katherine T. Kelly (A)		0.75						0.75	365.00	\$273.75
James W. Anderson (A)								0.00	350.00	\$0.00
Irene M. Kovarik (PL)						0.25		0.25	200.00	\$50.00
Brenda Johnson (CT)								0.00	160.00	\$0.00
Amy Zaccardi						0.25		0.25	150.00	\$37.50
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
								0.00	0.00	\$0.00
Total:	0.00	0.75	0.00	0.00	0.00	0.50	0.00	1.25		\$361.25

(Note: The term "Partner" includes Equity Members, Non-Equity Members, Officers and Of Counsel Attorneys of the Firm.)

Categories:

- (1) Investigations, Factual Research
- (2) Discovery
- (3) Pleadings, Briefs, Pretrial Motions (including legal research)
- (4) Court Appearances
- (5) Settlement
- (6) Litigation Strategy, Analysis & Case Management
- (7) Class Certification

- (P) Partner
- (OC) Of Counsel
- (A) Associate
- (LC) Law Clerk
- (PL) Paralegal
- (CT) Computer Tech
- (I) Investigator

EXHIBIT 3

EXHIBIT 3

<u>In Re Processed Egg Products Anti-Trust Litigation, MDL No. 2002, E.D. Pa 08-md-02002</u> Expense Report and Summary of Fees & Expenses

Reporting Period: January 2009

Firm: Heins Mills & Olson, P.L.C.

Description	Current Total	Cumulative Total
Assessments	\$5,000.00	\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$55.25
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$26.96
Telephone/Fax/Email		\$3.59
Postage/Express Delivery/Messenger		
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$1,997.47
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$5,000.00	\$7,104.23

<u>In Re Processed Egg Products Anti-Trust Litigation, MDL No. 2002, E.D. Pa 08-md-02002</u> Expense Report and Summary of Fees & Expenses

Reporting Period Ending: February 2009 (Summary Amended 4-14-09)

Firm: Heins Mills & Olson, P.L.C.

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$0.25	\$55.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$26.96
Telephone/Fax/Email		\$3.59
Postage/Express Delivery/Messenger	\$33.47	\$33.47
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$1,997.47
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$33.72	\$7,137.95

Reporting Period Ending: March 2009 (Amended 5/13/09)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies	,	
Internal Reproduction/Copies	\$2.50	\$58.00
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$2.00	\$28.96
Telephone/Fax/Email		\$3.59
Postage/Express Delivery/Messenger		\$33.47
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.	\$1,888.01	\$3,885.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$1,892.51	\$9,030.46

Reporting Period Ending: April 2009 (Amended 10-13-09)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$54.50	\$112.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$28.96
Telephone/Fax/Email	\$0.14	\$3.73
Postage/Express Delivery/Messenger		\$33.47
Professional Fees (expert, investigator, accountant, etc.)		-
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,885.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$54.64	\$9,085.10

Reporting Period Ending: May 2009 (Amended 10-14-09)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$4.00	\$116.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$123.15	\$152.11
Telephone/Fax/Email	\$3.78	\$7.51
Postage/Express Delivery/Messenger		\$33.47
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,885.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$130.93	\$9,216.03

Reporting Period Ending: June 2009 (Amended 10-14-09)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$24.75	\$141.25
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$41.76	\$193.87
Telephone/Fax/Email	\$2.00	\$9.51
Postage/Express Delivery/Messenger		\$33.47
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.	\$17.00	\$3,902.48
Clerical Overtime		·
Miscellaneous (Describe)		
TOTAL EXPENSES	\$85.51	\$9,301.54

Reporting Period Ending: July 2009 (Amended 10-14-09)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$2.75	\$144.00
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$193.87
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger	\$20.43	\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,902.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$23.18	\$9,324.72

Reporting Period Ending: August 2009 (Amended 10-14-09)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$2.00	\$146.00
Court Fees (fillng, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$193.87
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		-
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.	\$15.00	\$3,91 7.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$17.00	 \$9,341.72

Reporting Period Ending: September 2009 (Amended 11/14/09)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$0.25	\$146.25
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$7.60	\$201.47
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$7.85	\$9,349.57
	*	

Reporting Period Ending: October 2009

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Coples	\$4.50	\$150.75
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.47
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$4.50	\$9,354.07

Reporting Period Ending: November 2009

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$150.75
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.47
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		-
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$0.00	\$9,354.07

Reporting Period Ending: December 2009

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$1.75	\$152.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.47
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$1.75	\$9,355.82

Reporting Period Ending: January 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$1.50	\$154.00
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$0.40	\$201.87
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		-
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		_
Miscellaneous (Describe)		
TOTAL EXPENSES	\$1.90	\$9,357.72

Reporting Period Ending: February 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$45.50	\$199.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.87
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		_
TOTAL EXPENSES	\$45.50	\$9,403.22

Reporting Period Ending: March 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$0.75	\$200.25
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.87
Telephone/Fax/Email		\$9.51
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		-
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$0.75	\$9,403.97

Reporting Period Ending: April 2010

Current Total	Cumulative Total
	\$5,000.00
	_
	\$200.25
	\$20.96
	\$201.87
\$0.25	\$9.76
	\$53.90
	·
	\$3,917.48
	·
\$0.25	\$9,404.22

Reporting Period Ending: May 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		-
Internal Reproduction/Copies	\$1.25	\$201.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.87
Telephone/Fax/Email		\$9.76
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$1.25	\$9,405.47

Reporting Period Ending: June 2010 (amended 9/15/10)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$10.75	\$212.25
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$0.08	\$201.95
Telephone/Fax/Email	\$0.07	\$9.83
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$10.90	<u>\$9,416.37</u>

Reporting Period Ending: July 2010 (amended 9/15/10)

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$212.25
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.95
Telephone/Fax/Email	\$10.13	\$19.96
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$10.13	\$9,426.50

Reporting Period Ending: August 2010 amended 10-15-10

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		- "-
Internal Reproduction/Copies	\$1.25	\$213.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.95
Telephone/Fax/Email	\$1.29	\$21.25
Postage/Express Delivery/Messenger		\$53.90
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$2.54	\$9,429.04

Reporting Period Ending: September 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$213.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$201.95
Telephone/Fax/Email		\$21.25
Postage/Express Delivery/Messenger	\$0.44	\$54.34
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		-
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$0.44	\$9,429.48

Reporting Period Ending: October 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$213.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$0.16	\$202.11
Telephone/Fax/Email		\$21.25
Postage/Express Delivery/Messenger		\$54.34
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$0.16	\$9,429.64

Reporting Period Ending: November 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$213.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		_
Computer Research		\$202.11
Telephone/Fax/Email		\$21.25
Postage/Express Delivery/Messenger		\$54.34
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$0.00	\$9,429.64

Reporting Period Ending: December 2010

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$213.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$202.11
Telephone/Fax/Email		\$21.25
Postage/Express Delivery/Messenger		\$54.34
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$0.00	\$9,429.64

Reporting Period Ending: January 2011

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies		\$213.50
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research	\$1.36	\$203.47
Telephone/Fax/Email		\$21.25
Postage/Express Delivery/Messenger		\$54.34
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		
TOTAL EXPENSES	\$1.36	\$9,431.00

Reporting Period Ending: February 2011

Description	Current Total	Cumulative Total
Assessments		\$5,000.00
Commercial Copies		
Internal Reproduction/Copies	\$2.50	\$216.00
Court Fees (filing, etc.)		\$20.96
Court Reporters/Transcripts		
Computer Research		\$203.47
Telephone/Fax/Email		\$21.25
Postage/Express Delivery/Messenger		\$54.34
Professional Fees (expert, investigator, accountant, etc.)		
Witness/Service Fees		
Travel: Air Transportation, Ground Travel, Meals, Lodging, etc.		\$3,917.48
Clerical Overtime		
Miscellaneous (Describe)		-
TOTAL EXPENSES	\$2.50	\$9,433.50